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WEST BENGAL STATE UNIVERSITY 

B.A. Honours Part-II Examination, 2022 

PHILOSOPHY 
PAPER: PHIA-IV 

Time Allotted: 4 Hours Full Marks: 100 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 Answer Question No. 1  and six more questions taking two from  
each Group A, B and C 

১ নং pű এবং িবভাগ ক, খ এবং গ �থেক dিট কের িনেয় আেরা ছয়িট  pেűর উtর দাও 

1. Answer any five questions from the following: 
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Symbolise the following:  
pতীকািয়ত কেরাঃ 
(i) p is the necessary and sufficient condition of q. 
 P, q-এর পযর্াp আবিশয্ক শতর্ 
(ii) p if q 
 p যিদ q 

(b) If F,q~p  then determine the truth value of qp   

যিদ F,q~p  হয় তেব qp -এর সতয্মূলয্ িনধর্ারণ কেরা। 

 

(c) What is meant by argument form? Give an example.  
যুিk আকার বলেত কী �বােঝা ? একিট উদাহরণ দাও। 

 

(d) Translate the following sentence into Boolean notation and then express it in 
terms of Venn diagram: 
িনেmাk বাকয্িটেক বুলীয় িলিপেত pকাশ কের �ভনিচেtর মাধয্েম pকাশ কেরাঃ 

If a nation is free, then it is prosperous.  
যিদ �কান �দশ sাধীন হয়, তেব তা উnতশীল হয়। 

 

(e) State the rule of Universal Generalization.  
সািবর্ক সামানয্ীকরণ সূtিট উেlখ কেরা। 

 

(f) What is Indirect Proof? Explain with example.  
পেরাk pমাণ পdিত কােক বেল ? উদাহরণসহ বয্াখয্া কেরা। 

 

(g) Give the form of Method of Residue.  

পিরেশষ পdিতর আকার �দখাও। 
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(h) Explain Addition Theorem of Calculating Probability.  

সmাবয্তা গণনার �যােগর সূtিট বয্াখয্া কেরা। 

 

   

 GROUP-A
িবভাগ-ক 

 

2.  (a) What do you mean by paradox of material implication?  
বstগত pিতপিtর আপাত-িবেরািধতা বলেত কী �বােঝা ? 

3

(b) Can we get a tautological proposition by denying a tautological proposition?  
একিট sতঃসতয্ বাকয্েক িনেষধ করেল িক sতঃসতয্ বাকয্ পাওয়া যায় ? 

3

(c) Determine whether the following statement forms are tautologous, self-
contradictory or contingent by means of truth table.  
সতয্ সারণীর সাহােযয্ নীেচর বাকয্াকারgিল sতঃসতয্, sতঃিমথয্া না আপিতক তা িনণর্য় কেরা। 
(i) ]r)p~q[(~]r)qp[(  

(ii) })q~p(p{p  

3+3

(d) Use truth table to determine the validity or invalidity of the following argument: 
সতয্সারণীর সাহােযয্ িনmিলিখত যিুkিটর ৈবধতা বা অৈবধতা িনণর্য় কেরাঃ 
She can have many friends only if she respects them as individuals. If she 
respects them as individuals, then she cannot expect them all to behave alike. She 
does not have many friends. Therefore, she does not expect them all to behave 
alike.  
তার অেনক বnু থাকেব একমাt যিদ �স তােদর বয্িk িহসােব সmান কের। যিদ �স তােদর বয্িk িহসােব 
সmান কের তাহেল �স এটা আশা করেব না �য সবাই একইরকম আচরণ করেব। তার অেনক বnু �নই। 
সুতরাং, �স এটা আশা করেব না �য সবাই একরকম আচরণ করেব। 

3

  
3.  (a) Construct formal proof of validity of the following arguments (Do not use C.P or 

I.P) 
িনmিলিখত যিুkgিলর আকারগত ৈবধতা pমাণ দাও (C.P বা I.P বয্বহার করা যােব না) 
(i) M)(BW)(H , PM  , H/P ~~  
(ii) H~H/G  
(iii) If the first disjunct of a disjunction is true, then disjunction as a whole is 

true. Therefore if both the first and second disjunct of the disjunction are 
true, then the disjunction as a whole is true. 

 একিট ৈবকিlক বচেনর pথম িবকlিট যিদ সতয্ হয়, তেব সমg ৈবকিlক বচনিট সতয্। সুতরাং 
যিদ ৈবকিlক বচেনর pথম ও িdতীয় িবকlিট সতয্ হয় তেব সমg ৈবকিlক বচনিট সতয্ হেব। 

3×3

(b) Prove the invalidity of the following arguments by the method of assigning truth 
values: 
সতয্মূলয্ আেরাপ পdিতর সাহােযয্ িনেmাk যুিkgিলর অৈবধতা pমাণ কেরাঃ 
(i) )S~G()WB(  (ii) K~)NL)(ML(K  
 )PC()G~B(~   )N~P(O  
 ~ W  Q~)QP(~  
    P  M~)P~R(  
 G~C   RK  

3×2
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4.  (a) What is counter example? Explain with example. 

উদাহরণসহ বাধক দৃŶাn বয্াখয্া কেরা। 

3

(b) Use truth tree method to determine whether the following proposition is 
consistent: 

সতয্শাখী পdিতর সাহােযয্ নীেচর বচনিট সংগিতপূণর্ িকনা িবচার কেরাঃ 

CA,A,CB,CA  

4

(c) Determine whether the following statement is tautologous or not by using truth 
tree method: 

সতয্শাখী পdিতর dারা নীেচর বাকয্িট sতঃসতয্ িকনা �দখাওঃ 
)]rp()rq[()qp(  

4

(d) Use truth tree method to test the validity of the following: 

সতয্শাখী পdিতর dারা িনেmাk যুিkিটর ৈবধতা িবচার কেরাঃ 
Moriarty will escape unless Holmes acts. We shall rely on Watson only if Holmes 
does not act. Therefore, if Holmes does not act, Moriarty will escape unless we 
rely on Watson. 

মিরয়ািটর্ এিড়েয় চলেব যিদ না �হামস ্  কাজ কের। আমরা ওয়াটসেনর উপর িনভর্র করেত পারব, �কবল 
যিদ �হামস ্  কাজ না কের। সুতরাং যিদ �হামস  ্ কাজ না কের, তেব মিরয়ািটর্ এিড়েয় চলেব যিদ না আমরা 
ওয়াটসেনর উপর িনভর্র কির। 

4

  
5.  (a) Explain the method of Conditional Proof with an example. 

একিট উদাহরেণর সাহােযয্ pাকিlক pমাণ পdিত বয্াখয্া কেরা। 
3

(b) Use the method of Indirect Proof to prove the validity of the following argument: 
পেরাk pমাণ পdিতর সাহােযয্ িনmিলিখত যিুkিটর ৈবধতা pমাণ কেরাঃ 
 O)NM(  

 M 

 NM  
 O  

4

(c) Prove the validity of the following argument by the method of Conditional Proof: 
pাকিlক pমাণ পdিতর সাহােযয্ িনmিলিখত যুিkিটর ৈবধতা pমাণ দাওঃ 
   )CB(A  

   )DC(B  

)DB(A  

4

(d) Use the method of Indirect Proof to prove that the following statement is 
tautologous. 
পেরাk pমাণ পdিতর সাহােযয্ pমাণ কেরা �য িনmিলিখত বাকয্িট sতঃসতয্। 

)CA(~)BA(  

4
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 GROUP-B
িবভাগ-খ 

6. Test the validity of the following arguments by Venn diagram indicating the 
mood and figure of each of them: 
pিতিটর মূিতর্ ও সংsান উেlখ কের িনmিলিখত যুিkgিলর �ভনিচেtর সাহােযয্ ৈবধতা িবচার কেরাঃ 

5×3 = 15

(a) All men are liable to error; saints being men are liable to error.
সব মানুেষর Çািnর সmাবনা আেছ ; সাধুরা মানুষ হওয়ায় তােদরও Çািnর সmাবনা আেছ। 

(b) All bridge players are people. All people think. So all bridge players think. 
সকল bীজ �খেলায়াড়ই মানুষ। সব মানুষই িচnাশীল। সুতরাং সব bীজ �খেলায়াড়ই িচnাশীল। 

(c) This syllogism is valid, for all invalid syllogisms commit an illicit process but this 
argument commits no illicit process. 
এই নয্ায়িট ৈবধ, কারণ সকল অৈবধ নয্ােয় অৈবধ pিkয়া ঘেট, িকnt এই নয্ায়িটেত �কান অৈবধ pিkয়া 
ঘেটিন। 

  
7.  (a) What is meant by ‘Existential Import’ of propositions? Supposing that I and O 

propositions have existential import, how much of the Traditional Square of 
apposition will remain? 
বচেনর  ‘অিstমলূক’ তাৎপযর্ বলেত িক �বাঝায় ? ǖধুমাt I এবং O বচেনর অিstমূলক তাৎপযর্ আেছ 
sীকার করেল pথাগত িবেরাধ চtেŴােণর কতɉk অবিশŶ থাকেব ? 

3+6

(b) Give Boolean interpretation of the following sentences and represent them in 
Venn diagram: 
িনmিলিখত বাকয্gিলেক বুলীয় িলিপেত pকাশ কের �ভনিচেt বয্k কেরাঃ 
(i) Everything is beautiful 
 সবিকছুই সুnর 
(ii) Some kind men are not wise 
 �কান �কান দয়াল ুবয্িk নয় jানী 
(iii) Some non-S are P. 
 �কান �কান অ-S হয় P । 

2×3 = 6

  
8.  (a) Explain with example the principle of Existential Generalisation.

সািttক সামানয্ীকরেণর সূt উদাহরণসহ বয্াখয্া কেরা। 
3

(b) Construct formal proof of validity of the following:
িনmিলিখত যিুkgিলর আকারগত ৈবধতা pমাণ কেরাঃ 
(i) )ExGx()x(  
 )Sx~Wx()x(  
 )Ex~Wx()x(  
 )Sx~Gx(~)x(  
(ii) )]CxBx(Ax[)x(  
 )DxCx()x(  
 ]Dx)CxAx[()x(  
(iii) Bananas and Grapes are fruits. Fruits are nourishing. Therefore, bananas are 

nourishing. 
 কলা এবং আɆর হয় ফল। ফল হয় পুিŶকর। সুতরাং কলা হয় পুিŶকর। 

4×3 = 12
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9.  (a) Symbolise the following sentences by using quantifiers, variables etc: 

িনmিলিখত বাকয্gিলেক মানক, বয্িkgাহক ইতয্ািদর সাহােযয্ pতীকািয়ত কেরাঃ 
(i) Diana was not happy 
 ডায়ানা সুখী িছল না 
(ii) Only lawyers and politicians are members 
 �কবলমাt আইনj ও রাজনীিতিবদ হয় সভয্ 
(iii) There are metallic ornaments. 
 ধাtিনিমর্ত গহনা আেছ । 

2×3 = 6

(b) Determine the invalidity of the following arguments by the method of truth value 
assignment: 
সতয্মূলয্ আেরােপর dারা িনেmাk যুিkgিলর অৈবধতা pমাণ কেরাঃ 
(i) No diplomats are extremists. Some fanatics are extremists. Therefore some 

diplomats are fanatics. 
 �কান kটনীিতj নন চরমপnী। �কান �কান ধমর্াn বয্িk হয় চরমপnী। অতএব, �কান �কান 

kটনীিতj নন ধমর্াn। 
(ii) )]RxCx()SxFx[()x(  
 )]RxSx(Dx[)x(  
 )CxFx()x(  
 Dx)x(  
 )RxSx)(x(  
(iii) )Px~Lx()x(  
 )OxPx()x(  
 )Lx~Ox()x(  

3×3 = 9

  

 GROUP-C
িবভাগ-গ 

10. Critically discuss Mill’s Method of Agreement and Difference.
িমেলর অnয়ী-বয্িতেরকী পdিত আেলাচনা ও িবচার কেরা। 

15

  
11. What is hypothesis? What are the criteria used in judging the worth of a 

hypothesis? 

pকl কী ? �কান �কান মানদেč pকেlর উৎকেষর্র িবচার হয় উদাহরণসহ বয্াখয্া কেরা। 

5+10

  
12. Write short notes on the following:

িনmিলিখত িবষয়gিলর উপর সংিkp টীকা �লেখাঃ 
(i) Necessary and sufficient condition of an event. 
 ঘটনার আবিশয্ক ও পযর্াp শতর্। 

(ii) Mill’s Method of Concomitant Variation. 
 িমেলর সহপিরবতর্ন পdিত। 

8+7
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13. Calculate the probability of the following cases: 

িনmিলিখত �ktgিলর সmাবয্তা িনণর্য় কেরা: 
5×3 = 15

(a) If three balls are selected at random from an urn containing 5 red, 10 white and 
15 blue balls, what is the probability that they will all be of the same colour – 

(i) if each ball is replaced before the next ball is drawn, 
(ii) if the balls selected are not replaced? 

একিট পােt ৫িট লাল, ১০িট সাদা এবং ১৫িট নীল বল আেছ। পাtিট �থেক িতনিট বল tেল িনেল 
িতনিটরই একই রং হবার সmাবয্তা কত যিদ– 
(i) �তালা বল �ফরত �দওয়া হয়, 
(ii) যিদ �তালা বল �ফরত �দওয়া না হয় ? 

(b) What is the probability of getting at least one even number in rolling three dice 
once? 

িতনিট লুেডার ঘঁুিটেক একবার দান িদেল অnত একিটেত �জাড় সংখয্া ওঠার সmাবয্তা কত ? 

(c) What is the probability of not-getting a king in three successive draws of cards 
from a deck of cards? 

একিট তােসর পয্ােকট �থেক িতনবার তাস টানেল িতনবারই সােহব তাস না-পাওয়ার সmাবয্তা কত ? 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 
——×—— 

 


